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P - I (1+1+1) G / 20 (N) SUP

2020

GEOGRAPHY (General)
Paper Code : I -A & B
(Physical Geography)

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : I - A

Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.
Each question carries 1 mark.

1. The supernova hypothesis is propounded by —

(A) Otto Schmidt

(B) Russel

(C) Hoyle

(D) Alfven

1Ð ¢%þ™yîûöì̃ y¦þy “þ_!́Ýþîû ²Ìhßþyî ö”˜ éôôôé

(A) çöì_y ¢!‰þ!›!vþ!Ýþ

(B) þîûyöì¢œ

(C) ££zœ

(D) xyœšþöì¦þ˜

2. Marble is a metamorphic rock that forms from _______ rock.

(A) Granite

(B) Limestone

(C) Sandstone

(D) Shale

2Ð ›yöìîÅœ !Ÿœy îû*þ™yhsþ!îû“þ £ëû éôôôé

(A) @ùÌy˜y£zÝþ

(B) þœy£z›öìÞÝþy˜

(C) öîöìœþ™yíîû

(D) öŸœ öíöì„þ
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3. The visible component of the hydrological cycle is —

(A) Evaporation

(B) Transpiration

(C) Infiltration

(D) Precipitation

3Ð ‹œ‰þöìe«îû ~„þ!Ýþ ”,ŸÄ›y˜ vþzþ™y”y˜ £œ éôôôé

(A) îyÜ™#¦þî˜

(B) þ!˜ƒ¢îû’

(C) x %̃²ÌöìîŸ

(D) x•ƒöìÇþþ™’

4. Which of the following is the most important factor causing mass movements?

(A) Temperature

(B) Pressure

(C) Water content

(D) None of the above

4Ð !˜öìÁ¬y_« ö„þy˜!Ýþ ¦þyîû¢Mþéyœöì̃ îû x˜Ä“þ› vþzþ™y”y˜Ú

(A) “þyþ™›yey

(B) þîyëû%‰þyþ™

(C) ‹öìœîû xîßþiy˜

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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5. Which is not a component of the hydrological cycle?

(A) Precipitation

(B) Groundwater movement

(C) Evapotranspiration

(D) Respiration

5Ð !˜öìÁ¬y_« ö„þy˜!Ýþ ‹œ‰þöìe«îû ~„þ!Ýþ vþzþ™y”y˜ ˜ëû éôôôé

(A) x•ƒöìÇþþ™’

(B) þö¦þï›‹öìœîû ¢Mþéyœ˜

(C) îyÜ™#¦þî˜

(D) Ù»¢˜

6. Ganga is an example of which types of delta —

(A) Estuarine

(B) Arcuate

(C) Bird foot

(D) Cuspate

6Ð †Dy îm#þ™ £œ éôôôé

(A) …y!îûç

(B) þ•y %̃„þy„,þ!“þ

(C) þ™y!…îû þ™yöìëûîû ˜Äyëû

(D) „þöìßþ™Ýþ îm#þ™



Page : 6 of 12

7. The instrument used to record the occurrence of an earthquake is —

(A) Seismograph

(B) Richter scale

(C) Barometer

(D) None of the above

7Ð ¦)þ!›„þÁ™ ›yþ™yîû ësþf!Ýþîû ˜y› £œ éôôôé

(A) !¢¢öì›y@ùÌyšþ

(B) þ!îû…Ýþyîû ößþñœ

(C) îÄyöìîûy!›Ýþyîû

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

8. Drumlins are common in —

(A) Arid region

(B) Fluvial region

(C) Coastal region

(D) None of the above

8Ð vÈþy›!œ˜ ö”…y ëyëû éôôôé

(A) ÖÜñ xMþéöìœ

(B) þšÏþy!¦þç xMþéöìœ

(C) vþzþ™„)þœ xMþéöìœ

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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9. Shale is —

(A) Sedimentary rock

(B) Igneous rock

(C) Metamorphic rock

(D) None

9Ð öŸœ £œ éôôôé

(A) þ™yœ!œ„þ !Ÿœy

(B) þxyöì@Àëû !Ÿœy

(C) îû*þ™yhsþ!îû“þ !Ÿœy

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

10. Aravalli is an example of —

(A) Fold mountain

(B) Fault mountain

(C) Residual mountain

(D) Rift valley

10Ð xyîûyîÍÔ# £œ éôôôé

(A) ¦¤þy‹ þ™îÅ“þ

(B) þ‰%þÄ!“þ þ™îÅ“þ

(C) xî!ŸÜT þ™îÅ“þ

(D) @ùÌhßþ vþzþ™“þÄ„þy
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11. Who said, “Landscape is a function of structure process and stage” —

(A) W. M. Davis

(B) L.C King

(C) Mayo

(D) J. Hulton

11Ð “Landscape is a function of structure process and stage” îöìœ˜ éôôôé

(A) vþy!îÏvþz ~› övþ!¦þ¢

(B) þ~œ !¢ !„þ‚

(C) ›y£zöìëûy

(D) £yÎÝþ˜

12. Stalactites and stalagmites are common in —

(A) Arid region

(B) Fluvial region

(C) Karst region

(D) Coastal region

12Ð öÞÝþœy„þÝþy£zÝþ ç öÞÝþœy†›y£zÝþ ö”…y ëyëû éôôôé

(A) ÖÜñ xMþéöìœ

(B) þšÏþy!¦þç xMþéöìœ

(C) e«yÞÝþ xMþéöìœ

(D) vþzþ™„)þœ xMþéöìœ
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13. The infiltration of water into the subsurface is the —

(A) Recharge

(B) Discharge

(C) Seepage

(D) None of the above

13Ð ¦)þ†¦Åþßþi ‹öìœîû x %̃²ÌöìîŸ!Ýþ £œ éôôôé

(A) !îû‰þy‹Å

(B) þ!vþ¢‰þy‹Å

(C) !¢öìþ™‹

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

14. Monadnocks are formed by —

(A) Wind

(B) Water

(C) Glacier

(D) Groundwater

14Ð ›öì̃ y”˜„þ †!àþ“þ £ëû éôôôé

(A) îyëû%

(B) þ‹œ

(C) !£›îy£

(D) ö¦þï›‹öìœîû myîûy
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15. A river flows into a quiet lake and begins to form a —

(A) Deltas

(B) Alluvial fans

(C) Natural levees

(D) Point bars

15Ð ~„þ!Ýþ ˜”# ~„þ!Ýþ Ÿyhsþ £Éöì” ²Ìîy!£“þ £ëû ~î‚ †àþ˜ Öîû& „þöìîû éôôôé

(A) îm#þ™

(B) þþ™œœ þ™y…y

(C) ßþºy¦þy!î„þ î¤y•

(D) þ™öìëûrÝþ îyîûéôé~îû

—————
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P - I (1+1+1) G / 20 (N) SUP

2020

GEOGRAPHY (General)
Paper Code : I - B

(Physical Geography)
[New Syllabus]

(Supplementary)

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - I

Answer any two questions. 10×2=20

1. Discuss Continental drift theory as proposed by Wegener. Write about the
criticism of Continental drift theory? 7+3=10

2. What is mass wasting? Write about the difference between weathering and
mass wasting. Briefly discuss about two landforms formed due to physical
weathering. 2+5+3=10

3. What are the causes and consequences of an earthquake? 5+5=10

4. What are the factors of runoff? Discuss different types of landforms form due
to groundwater movement in the Karst region.  5+5=10

Section - II

Answer any three questions. 5×3=15

5. Define and classify weathering. 2+3=5

6. Write a short note on the Supernova theory. 5

7. Briefly discuss about classification of rocks. 5
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8. What are the processes of chemical weathering? 5

9. Discuss about the landforms forms due to glacial erosion. 5

10. What is the interruption of the normal cycle of erosion? 5

îDy˜%îy”

!î¦þy† éôé „þ

× =

1Ð çöìëû†˜yöìîûîû ›£yöì”Ÿ#ëû ¢Mþéyœ˜ “þ_!́Ýþ îÄy…Äy ”yçÐ ›£yöì”Ÿ#ëû ¢Mþéyœ˜ “þöì_î́û e&!Ýþ î’Å̃ y
„þöìîûyÐ 7+3=10

2Ð þ™%!O“þ Çþëû „þyöì„þ îöìœÚ xyî£!î„þyîû ç þ™%!O“þ Çþöìëûîû ›öì•Ä “%þœ˜y „þöìîûyÐ ëy!sþf„þ Çþëû„þyöìëÅîû
šþöìœ †!àþ“þ ¦)þ!›îû*öìþ™îû î’Å̃ y ²Ì”y˜ „þöìîûyÐ 2+5+3=10

3Ð ¦)þ!›„þöìÁ™îû „þyîû’ ç šþœyšþœ=!œ xyöìœy‰þ˜y „þöìîûyÐ 5+5=10

4Ð ¦)þ!›²Ìîy£ „þyöì„þ îöìœÚ e«yÞÝþ xMþéöìœ ö¦þï›‹öìœîû šþöìœ †!àþ“þ ¦)þ!›îû*þ™=!œ xyöìœy‰þ˜y
„þöìîûyÐ 5+5=10

!î¦þy† éôé …

× =

5Ð xyî£!î„þyîû „þyöì„þ îöìœ ~î‚ ö×!’!î¦þy† „þöìîûyÐ 5

6Ð ¢%þ™yîûöì̃ y¦þy “þ_!́Ýþ xyöìœy‰þ˜y „þöìîûyÐ 5

7Ð !Ÿœyîû ö×!’!î¦þy† „þöìîûyÐ 5

8Ð îûy¢yëû!˜„þ xyî£!î„þyöìîûîû ²Ì!e«ëûy=!œ „þ# „þ#Ð 5

9Ð !£›îyöì£îû Çþëû„þyöìëÅîû šþöìœ †!àþ“þ ¦)þ!›îû*þ™=!œ xyöìœy‰þ˜y „þöìîûyÐ 5

10Ð ßþºy¦þy!î„þ Çþëû‰þöìe«îû îy•y îœöì“þ „þ# öîyGþÚ 5

—————


